On my honor, as a student,
I have neither given nor received
unauthorized aid on this academic work. Initials:

Your Initials Only:

Instructor Name:

UNOFFICIAL SOLUTIONS

Do not write in this area

Math 116 — Final Exam — April 26, 2019

Your U-M ID # (not unigname):

Section #:

1. Do not open this exam until you are told to do so.

2. Do not write your name anywhere on this exam.

3. This exam has 12 pages including this cover. The last page provides some potentially useful
formulas. You may separate the formula page from the exam, but please do turn it in along
with the exam. Otherwise, do not separate the pages of this exam. If pages do become
separated, write your UMID on every page and point this out to your instructor when you
hand in the exam.

4. There are 10 problems. Note that the problems are not of equal difficulty, so you may want
to skip over and return to a problem on which you are stuck.

5. Note that the back of every page of the exam is blank, and, if needed, you may use this
space for scratchwork. Clearly identify any of this work that you would like to have graded.

6. Please read the instructions for each individual problem carefully. One of the skills being
tested on this exam is your ability to interpret mathematical questions, so instructors will
not answer questions about exam problems during the exam.

7. Show an appropriate amount of work (including appropriate explanation) for each problem,
so that graders can see not only your answer but how you obtained it.

8. The use of any networked device while working on this exam is not permitted.

9. You may use any one calculator that does not have an internet or data connection except a
T1-92 (or other calculator with a “qwerty” keypad). However, you must show work for any
calculation which we have learned how to do in this course.

You are also allowed two sides of a single 3" x 5” notecard.

10. For any graph or table that you use to find an answer, be sure to sketch the graph or write
out the entries of the table. In either case, include an explanation of how you used the graph
or table to find the answer.

11. Include units in your answer where that is appropriate.

12. Problems may ask for answers in ezact form. Recall that x = v/2 is a solution in exact form
to the equation z? = 2, but « = 1.41421356237 is not.

13. Turn off all cell phones, smartphones, and other electronic devices, and remove all
headphones, earbuds, and smartwatches. Put all of these items away.

14. You must use the methods learned in this course to solve all problems.

| Problem | Points | Score | | Problem | Points | Score

1 14 6 11
2 8 7 13
3 10 8 12
4 8 9 7
5 9 10 8
| Total | 100 \
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1. [14 points] Hannah Haire and Ryan Rabbit meet for one last race. Once again, they both
start at the west side of a large square field that is 10 km wide; it will end when one reaches
the east side. The racers’ (z,y) positions are given by the parametric equations below, where
(0,0) represents the southwest corner of the field, z represents kilometers east of this corner,
y represents kilometers north of this corner, and ¢ > 0 is measured in hours after the race

begins.

x =4t — 2 x'(¢) = 4-1¢

o o 2 Y (&)= 2¢

Hannah Haire: Ryan Rabbitt: {

* . £
y:§+2 \3 (t) =

Be sure to justify your answers to the following questions algebraically.

a. [2 points] Who is going faster two hours into the race?

H annoh \2 s B =25
Speed /x‘f_ﬂ‘*j'm‘ = J yr4 o = [o %P&" m |
H an noh

Answer:

b. [3 points] The race ends when the first racer reaches the east side of the field. When
does the race end? Who wins?

Hannalh Gintthes when 2 youn Cinishees W\""—V\ 4t 16 -H0

2 tlo=0 Dt = —=
tt=10 Dt =Jio L{t to=z10 D thq¢ . wus
No read So.uv\u)v\%/ So &qam NV BYNYe m s ,

(¥

Answer: Race ends at t = i Winner: Ryan Tie

c. [3 points] Write an integral representing the distance, in km, that Ryan runs during the

race.
{10
g‘ (QjG.MQ 5 A-é
0

Answer:

{10
50 ((L/-zt)z +(2é—01 dt

d. [3 points| Find all times at which Ryan and Hannah are in the same spot on the field. If
there are none, write “none”.

¢ —Volues mabds when 4+ =dHt -t =20 = gt -2t8 = 2t(2-t)

=) &+ 20 06 =22,

4w

But Y- Va,Qmes match ot
P : ~ t=2.
AL ¢ \O no NON.E

BL
Answer: t =

e. [3 points] Find all times at which Ryan is facing directly northeast (that is, halfway
between directly north and directly east). If there are none, write “none”.

— Q A\J\ ég’
= _—i = .— _ e— ’
NE = — | = ol e 7°

S0 Ul 23 &= = €5 di 2 &= LlS

At Har fame Answer: ¢ =

»
- A = LS| = {45 ’
%:H'Z.S .5, o S5-I ) So )994,&0/—6!905'41“/2,

.25
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2. [8 points]

The castar, a coin widely used in
Middle-Earth, allegedly has the shape
graphed to the right. The outer perimeter
can be modeled by the implicit equation

x4+y4=1

and the perimeter of the hole in the middle is
a square. To help his fellow Hobbits detect
counterfeit coins, Samwise Gamgee, the
Mayor of the Shire, is working on obtaining
the specifications of a genuine castar. Sam
needs your help.

a. [2 points] Find a function f(f) so that the outer edge of the castar is given by the
function r = f(6).
X = reosb, 3 = Sm Q/ So

N
~ !

/
(rc_ogg) + (TSin@) -

“ o
2 oo+ isme 2
/ “

of o
Answer: f(0) = Cos & +tSm' B

b. [3 points] Write an expression involving one or more integrals that gives the total area of
the quarter of a castar in the first quadrant (shaded above).

Ares o5 shadbed —H’;am(e = ’\i ) S0
J

| %*'”/L ‘: )

O 1 DC %‘J\G/‘(-@[ BASy = =) Js

| \/2

iz
\
R
& Cors ©+Sin T 7
Answer: 2 Jo £ ¥ / z

c. [3 points] Approximate the area of a castar by estimating your integral(s) from part (b)
using TRAP(2). Write out all the terms in your sum(s).

¢ : ( By L ﬂ
For 50 g () dx  TRAP(2) = AX [‘,23(07‘\’ gls 1+ 13(_ D | W

AP
: L

5’_—"‘7‘ B & = —
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3. [10 points] A group of scientists of S.H.ILE.L.D. are investigating the Battle of Sokovia,

trying to understand how Ultron lifted the capital city of Sokovia up into the sky. They use
data available to them to model the situation.

Pay careful attention to the units involved in the data they use.

a. [5 points] The scientists find that they can model the part of the city that was lifted by
Densiyy in the shape of a cylinder of radius 2 kilometers and height 100 meters. The density 4(r), in
kilograms per cubic meter, is a function of distance r meters away from the central axis
) " of the cylinder. Let M be the total mass, in kilograms, of the part of the city that was
LO’: ver? ™ lifted. Write an expression involving one or more integrals that gives the value of M.
6 TN

Ve 3, sO

SLUPe oc Sl\‘ce. = Ejf-,a‘nér(c& SLe“

Caldius ¢ o - v (04¢ <2000 m)
ey & s (0O m
&= Nnelsld) = 200 T m*
v oarecn = @mnlne 5&) S
>
leme,. N = 200 &Y m ;
Vo luw | )CA‘L ) >: ZODWPSCF)AP
Top / neess voowo= (volume vy ledy
J rew 2000
2 e 05 SLTY S oy
Answer: M = N

b. [5 points| You may use M and (r) from part a. for this part.
Ultron lifted the city at a constant rate of 2 meters per second to a height of 1000 meters
above the ground. While he lifted it, a small portion of the city kept detaching from the
rising part at a constant rate of p kilograms per second. Write an expression involving
one or more integrals that gives the total work, in Joules, it takes to complete the lifting

process. Your answer may be in terms of m, g,d(r), and M, where g is the gravitational
constant, g ~ 9.8 m/s2.

looo ™
Tole) Time bo LS+ = A’“/s = 5005
Mmags ay tme t M~ Pt ke
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9

Answer:
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4. [8 points] Four slope fields are given below.
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a. [4 points| Suppose a and b are constants.

Which one of the slope fields above could
be the slope field for the differential

S\of*@.
s at appro

o/

i.;»‘ 4N o ‘C
CWA&V\%Q

(Iv)

(I11)

az?(xz — b)? (Circle one.)

dy
dr

equation

%
L& so +at’s b.

X

For

Based on this slope field, which of the following must be true about a?

)

NONE OF THESE
X <O,

\a<0

a>0

(O,

X
1
e

Mot

)
a.

W

49 5o
aX

NONE OF THESE

b<0

b>0

Based on this slope field, which of the following must be true about b?

b. [4 points] Find all equilibrium solutions of slope field (I) (on the upper left side) and

determine whether they are stable. If there are no equilibrium solutions, write “none”.

Other equilibrium solutions:

Stable equilibrium solutions:

O

i
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5. [9 points] Determine whether each of the following series converges or diverges. Fully justify
your answer, including carefully showing all work for any computations. Include any
convergence tests used.

o0 .
. 3 — sin(n%)
a. 4 t e :
[4 points] HEZI — o
Circle one: ‘ Converges Diverges
Justification:

-\ égm(v\q)—é l
So 7 4 3—Sm(mﬂ s 4

o 2 g BTG 8
hq_ - V\'L h'L
= 4 b oo o-kest (p=2)
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= 1
b. [5 points
5P ] nX=:2 nvinn
Circle one: Converges l Diverges
Justification: =

fwlfeém\ lest
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6. [11 points] Consider the function g(z) defined for all real numbers represented by the Taylor
series i 2014 202 ol.
' . 92n—1 - lo il !
glz) = D (-1 e,
n=1

(n+1)!

a. [3 points] Find the values of g(2°1)(0) and g(2°2%)(0). You do not need to simplify.
Answer: g19(0)=_ O = g(020)(0) =

e

0 .
3 (7(7 = Z 3 \ XK . S{nce, a\\ -\-Umg \a) “’&.@ Sum l«a.ue_ e ln Oejl*eQ)
koo e 3(10“‘)(0) so. There § Gn V' Yerm, wlaw w =1010.

<o SLzo'zo) (O) B C_")lolb" z'),uo -1
2020 (101041)}
b. [2 points] Find P4(z), the Taylor polynomial of g(z) of degree 4 near z = 0.
_ 2.1 =\ . N
RIS L
(z(tol' 1T 4 Kq
w2t ey X T T
(2+1)
%, T
K- X
Answer: Py(z) = 3
c. [3 points| Define
G@:/gmﬁ
-1
Use Py(z) to estimate G(2). -
Answer: G(2)~ 5.3
< “ 2 \ 3 S &
_ S . S gL
G(2) = j glerde j Rie)de = j. - 3t At = gto et
) -1 i

3 _ 128
I O s}[x_ R B e
[3(23 s (2 3GV 13 () 3
d. [3 points] Use an appropriate Taylor polynomial to compute the limit

/
lim g'(z)

z—0+t T

Show your work carefully. Z
Answer:

3(’0 = xl + Some ferms oQ éeﬁpq_ at lect H

$o Slcx\ = 2x L

So L&) - " . ! -7 L
B +

2 AN )

Huose —mp as x ~—2 0O
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7. [13 points] The parts of this problem are unrelated.
a. [3 points] Consider the function

0 forz =0
%) = 4 g
/(=) ST cosz  forz #0
®
Find the Taylor series for f(z) centered at z = 0. erte your answer as a single sum -
using sigma notation. o) w Zn+\ _L,_
e L5 & 5 s Z(o[ 7 =
() = 7<_5\v\ % oSO = ¥ = (zm-H\ et (vaﬁ Cans) )
o= | e xzv\
Z (-1) (zn+))
Answer: f(z) = n=e
b. [4 points] Part of the graphs of Yy
g(z),d'(z), 9" (), and ¢g"(x) are given to 20+ §" () (= 12
the right. 6.1 Se 3 e
Find the third-degree Taylor polynomial 1oLt M "= O
for g(x) near z = 1. - /,;'r/ v——g(z) 3
(o} "1 . ".' \‘ 3" 2 v - _.?
2t —glz) 5

q ) + 960+ £4°( 0"

P, () =
SN OIC

12 4+ ()(x-0+ L (=) (X~

-

Answer:

|2 —4 (x- D x

L0

,!.n
o2

1
Load
-

1
~dO..
(«2)

(x-1)°

c. [6 points] Find the exact value (in closed form) of the following series. You do not need

to justify your answers.

)

w

. oL 201, 0001  0.0001 _ — L. (-C?> =L 1o~ 2.9
i 0.1+ = ; s - o -
. m™ 3 18 108 - b L b e ., /(TIT‘L—H?_’)
Lo-—+t 3 % = 2 T rr‘a_ l ( )
.1 , 2%t 258 | 2% | 1%es ] = =g %n{2€
i = == e i el — - - = -
iii. 5 2e? + 5 gt 7 él2¢e T ]
\ il
% Y N . T .2
,Qm((+><7:><—‘%+f;—’%i- w) 1 mednic wite G= 3, X2
. TP 2 43
» Ln(]- e X ox*_ x4 So /> i -
z 3 4 | = 2 2mt 2T 412
2 3 4 nt
S ~0ull-x = SC & .)ﬁ-—-( o4 X F s
o /Q (’ ) 2 3 ¥ CCC) LoolAS L ke <in
ol o0l 000! 3 &
<0 '—IQM(I—") = "‘J’ —i+ ’:3 "",_7—' g\v\(yw: )(—-L.;.?_L,—--—
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8. [12 points] The Resistance suddenly find themselves in a huge crisis! Chased by First
Order’s fleet, the Resistance members are deciding whether to evacuate their starship and
flee in small transports, or to remain and fight. At every moment throughout the debate,
every Resistance member is voting either to remain or flee, but members are continuously

changing their vote. Votes change in the following way:
e The number of Resistance members who change their vote from fleeing to remaining is
proportional to the number that is currently voting to flee

e The number of Resistance members who change their vote from remaining to fleeing is
proportional to the number that is currently voting to remain

e These both have the same constant of proportionality k, where k > 0.

a. [4 points] Let P be the total number of Resistance members, and let 7(¢) be the number
of members vote to remain ¢ minutes after the debate begins. Write a differential

equation for r(t) which models the scenario.
k (P-v(&)) =l r(¢)

dr
Answer: — =

T € o ﬁ’{i’, dt
SR R = P = 2kr(t)
@ | P-ree
|
I =k (p-2r(L)
|

\

b. [3 points] Find all equilibrium solutions to your differential equation and determine
whether they are stable. Interpret your answer in the context of the problem.

\ 0. vodte 1S
- | Shable sohudion when e VOTIE
E%ut\\bfluM @\‘ Ef o 23 L
& \ /
T0 ¢ v L | P-2¢ <0, So %_;C KO dec - g,zaUt

‘ P LA ,
i rd %) P-2¢ Yo, 50 :1/-70 inc

c. [5 points] At a moment when 60% of the Resistance members wish to remain, Princess
Leia recovers, and the situation drastically changes. Now let R be the fraction of
Resistance members who wish to remain ¢ seconds after Leia’s recovery, and suppose R

satisfies the differential equation

dR .
71? = —Re".
Find an explicit formula for R(t). Show your work carefully. o

~

\ :_etc]'t‘ = 0. R =

—

_‘@f_pc = [ = Ae

_ i Ry
) .15:@(0\: A€€;A€ — e

Answer: R(t) =
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9. [7 points] After the first ever picture of a black hole was released by Event Horizon
Telescope (EHT), the public awaits an image of Sgr A*, the black hole at the Galactic
Center. Let ¢t be the amount of time, in years, between now and when the EHT releases such
an image. The probability density function for ¢ is given by

ol = 0 fortﬁ.omtgm
1/2™ for m=s=t===m=e=t, for each positive integer n.

Part of the graph of g(t) is given below.

y=q(t)
3
2/
u/‘-x
1/4 o —o
-1 1 2 3 4

a. [4 points] Let Q(t) be the cumulative distribution function for t. Carefully sketch the
graph of Q(t) on the domain —1 <t < 3.

y = Q(t)

a/a-

/
1/2+ .
S

v t

-1 1

O
Do
P
(=)

b. [3 points] Let P, be the probability that EHT releases an image of Sgr A* within n
years, and p, be the probability that release time is in the nth year.
For each part below, circle “True” if the statement must be true and circle “False”
otherwise. No justification is necessary.

- gn%(a )t

\
n The sequence p,, converges. —p — O FALSE

[ Y 2 " ALy \
£ —:[Y\ The sequence P, converges to 0. Z Pa= -7 ! "PROE) | FALSE?
/ [ } ‘
o0 //

The series Z Dn, coOnverges. FALSE

n=1 / | )
/\;’ ON )@EV?C) TO /
= )
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10. [8 points| The following problems are unrelated.
a. [3 points] Which of the following are solutions to the differential equation ' = z + y?
Circle all correct answers.

" [ | = pX
i'y:—1—$+38z) ';j:'““'gex v.y=e*+zx ,é = e 4’\1/
’ ' X (2=
iLy=1-2+9%" 4 =-177€"  yig=e? Y 7 KE
L o X
ili.y=-2—z+e* f=-l+e vii. NONE OF THESE

m ;jl - -] +7€"

Fex)

o I
b. [3 points] Suppose Z an(z — 2)™ is a power series with interval of convergence (—1,5].

n=0
Which of the following statements must be true? Circle all that are correct.

- £ fy)
N\ oN Yy %
| 3 0 | i Z 3"a, converges conditionally. iv. Z a,, converges conditionally.
—0 =0
- | (—3)“ On \ " ,_Fn’—‘——-—-w S
o0 |
> bsolutely |
> /" o0 V. a, converges abso i
z (-3) Ay ii. Z 3"a, converges absolutely. n=0
n=0 00 |a l
Z(-s)“‘ Ola Vi Z — diverges.
n=1 "
. Y, ¢ a vee . an+l -
dyver “yes >m i lim v 3 vii. NONE OF THESE

it's whatyett
%Jf 1w e jou P}ué o=,
s ) Nerart, D 03", Convergs condidionally
So i‘{% Anl ¢ %’Q ) ,
c. [2 points] For what value of 3 does /7r/18 \/sin2(39) + 9cos?(36) df give the length of the

arc along the polar curve r = sin(36) in the first quadrant and outside the circle
r =1/27 Circle the one best answer.

i —m/18

ii. /18 4+ 27
iii. m — /18
iv.m/2 —7m/18

vi. NONE OF THESE
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“Known” Taylor series (all around z = 0):

. 2 (1) g2t z3 (—1)n g2 tl
sm(a:)zg R e ey e N R v i for all values of x
o (2n+1)! 3! (2n+1)!

cos(z) = =l for all values of x

S x2 z™
exzzﬁzl+x+§+---+ﬁ+~- for all values of x
= n! ! !
o0
_1n+1n 2 3 _1n+1n
ln(1+m)zz()nx:x$2+g--~+()n$+'-- for —1 <2 <1
n=1
-1 -1 -2
(1+x)p=1+px+p(p2' )$2+p(p ?))'(p )x3+~- for —1<2x<1

1

l—x:

oo
Zx":1+x+x2—|—x3+-~+x"+--- for —1<z<1
n=0

Normal Distributions

The density function of a normal distribution with mean p and standard deviation o > 0 is

L —@-w?/@e?)

p(z) = W

The standard normal distribution is the normal distribution with ¢ =0 and o = 1.





